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CE - 202 B : Fundamental Statistics :
Paper - 1
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1 QR AU ARAL %Ll DY) ¢ 14
(1) [aseri- Gudal %eudl.
(2) »ued O.C. as yuAdl.

(3) L29Ls 1A WAE ANA4).

(4) y=1+—— w2 % R0qd).
X

I+x

(5) Ilogx dx N4\,
(6) dlglt (ed--u sie oeudl.
2 (3) Rsad eyl Al Gualat s34 f(x) =¥ +3 5
4 [saq Aqdl.

GAC-549] 1 [Contd...

https://www.hnguonline.com

wod duruonduy mmm//:sdny

wod durjuon3uy mmm//:sdny

https://www.hnguonline.com

() QA Rdd) w2 j—i Aqdl. 9

(D) p=x"+2"+x"+2?

2) y=x*-é*

3 . x+1

3 r= 2x+5
3 () Asadl ol 20 Al 2AALs Anal. 4
(o) W& 2Asan s, 10

2
() [Perdx @) [e*Pdr (3 fﬁdx

2adl
3 (21) [ud Asa-l avyl udl A« el eeudl. 6
(o) e Asan 53, 8

4
5x° —4x? -1 2 10
(1) ‘[de 2) I.\‘ (4-x) dx

0
4 () unedl: 8
(1) eflsft Aoy dpeiam Qe
(2) A (B geaxy Alul
(3) Geulse AuM A ASs AN,

GAC-549] 2 [Contd...

https://www.hnguonline.com

wod durjuonduy mmm//:sdny



wod durjuon3uy mmm//:sdny

https://www.hnguonline.com

(o) As Fred Dt (1000 100 1) W2 wys woll 6

L 0.02 8. (i) wyedl sk dAeuasu N4,
(i) Al wdlsht Aoua-y . (i) A0Q =

ATI 4.
»yql
yHANA
(i) 0.C. as
(i) ASN as
(iii) AOI
(v) AOQ

s [Medd -l W2 N=2000, n=100, C=1

10

4

¥l AQL=0.02 ¥ LTPD=0.08 & d ALSS

e Gdles Aviy ).

{2l :
(1)  FMRusely ulRseu-y

(ii) ds(@s wRseys.

25 500 sell Fed Qad sued ) yos 99 ¢dl. 5

oAl 3 w1 Med ¥l wnlenidl Aami wda
8 3 ¥+l uys 100 A U9 88 B. 5%

4 (=)
(o)

5 ()
(1)

GAC-549]

AL sci-l sa @),

3

https://www.hnguonline.com

[Contd...

wod duruonduy mmm//:sdny

wod durjuon3uy mmm//:sdny

https://www.hnguonline.com

(5) 80 Sisuvl-dl AU el 78 MA B, 128 % 5

120 lsAaAlL AL 2481 75 A W[, 15 8. 9

Aq 54l AslA 3 SLsAAAL AR 2Rl Blsdil

AL VRl Sl a4y B ?

(1) wud usid o ¢ oflon usR-l @
(i) wdsal sau

(1ii) wuldd .

5  (2) unaadl:

Y4l

(o) DA el uzell g AH sl wsiy 3 A Feall- 6

u. (g 92 agiad wds 8 ¢

GAC-549]

yays | [ | dvu

Med-1 80 10 200

Med-11 | 85 12 300
4

https://www.hnguonline.com

[Contd...

wod durjuonduy mmm//:sdny



wod durjuon3uy mmm//:sdny

https://www.hnguonline.com

ENGLISH VERSION

1  Give any four answer out of six questions : 14
(1) State importance of Derivative.
(2) Explain "Ideal O.C. Curve".
(3) Explain statistic and parameter.
d i
@) Obtain% if y=1+—.
Ix I+x
) [logx dx .
(6) State merit of a Acceptance sampling plan.
2 (a) Define Derivative of a function and using it 5
find the derivative of f(x)=vx+3
. dy . :
(b) Find o for the following functions. 9
(1) y=x*+2"4+x"+27
T@ y=xtet
@) - x+1
g 2x+5
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4 (a) Explain : 10
@ O.C.
(i) ASN
(u1) AOI
Gv) AOQ
(b) For single plan N=2000, n=100, C=1 it is given 4
that AQL=0.02 and LTPD=0.08, Determine
producer's risk and consumer's risk.
5 (a) Explain : 4
(1) Null hypothesis
(i) Alternative hypothesis
(b) A sample of size 500 was drawn and the 5
sample mean was found to be 99. Test whether
this sample could have come from a normal
population with mean 100 and variance 68 at
5% level of significance.
(b) The average marks of 80 boys is 78 with SD. 5
of 12 and the average marks of 120 girls is
. 75 with S.D. of 15. Can it be said that
the average marks of boys is more than that of
girls ?
OR
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5 (a) Explain following term. 8
(i) Type - I and Type - II error
(1) Level of significance
(1) Standard error.
(b) From the following data, can it be said that 6

the difference between the standard deviation

of two sample is significant.

Mean | S.D. | Number
Sample -1 80 10 200
Sample-1I| 85 12 300

https://www.hnguonline.com
Whatsapp @ 9300930012
Send your old paper & get 10/-
Iger guer Oud Sror 3 10 3od o,
Paytm or Google Pay &

GAC-549] 8 [120]

https://www . hnguonline.com

wod durjuonduy mmm//:sdny

wod durjuon3uy mmm//:sdny

3 (a)

(b)

3 (a)

®)

(b)

GAC-549] 6

https://www.hnguonline.com

Define integration and explain its constant. 4

Integrate with respect to x. 10

x2

1) [Perdx @ fe“‘”’dx @ | \/rT:ldx

OR
Define interval integration and state its 6
properties.
Obtain integration with respect to x. 8
4
I Sy - 4):2 -

1 . 2.4 A0
Tl @y JP@-0"0d
X —X 4]

@

Explain : 8
(1) AQL
(2) LTPD

(3) Producer's risk and consumer's risk.

For single sampling (1000 100 1) given that 6
lot fraction defective is 0.02. Obtain
(i) Probability to accept the lot. (ii) Chance of

rejecting the lot (i) AOQ (iv) ATL
(given ¢2=01353 ¢ =0.0498)

OR
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